

un n

n c A n n y c
n n p c n y n n
p n s s c s by n
p n n n n n n s n
p n Gy n n y c n
nc n n n c n c

$\sum_{k=0}^n \binom{n}{k} P^k (1-P)^{n-k} = 1$

$\sum_{k=0}^n \binom{n}{k} P^k (1-P)^{n-k} = \sum_{k=0}^n \binom{n}{k} P^k (1-P)^{n-k} = (P + (1-P))^n = 1^n = 1$

Binomial probability $B(n, P) \equiv \binom{n}{r} P^r (1-P)^{n-r}$

$\sum_{r=0}^n \binom{n}{r} P^r (1-P)^{n-r} = (P + (1-P))^n = 1^n = 1$

5 5 5 5 5 5

G n c n n n n c n n c n
 b n c n n n n n n n n c n c n
 5 c n c b n n n n y

$\bar{5} \quad n$

